
ITEM NO. PART NUMBER DESCRIPTION Cost QTY. Subtotal

1 OpenRail500mm 6 14
84

2 20_20x40x610 8.66 11
95.26

3 M5_10mm_TeeNut 0.17 360
61.2

4 M5x8-Screw 0.17 304
51.68

5 20_20x20x610 5.79 4
23.16

6 Interconnect CUSTOM - Laser Cut or 3D Print 2 6 12

7 M5-Washer 0.25 64
16

8 V-Wheel 3.5 32
112

9 1 64
64

10 BlankSpacer 0.3 32
9.6

11 M5-Nut 0.15 32
4.8

12 40mmBracket 8 8

64

13 20_40x40x610 13.54 3
40.62

14 motor_mount_plate 6.95 6
41.7

15 NEMA17.A.1 17.5 10
175

16 GT2_Pulley 5 6
30

17 3
0

18 NullTool 2 0

19 StepperBracket 3D-Printed 0 4 0

20 FlexibleCoupling 5.95 4
23.8

21 StepperBracket 3D-Printed 0 4 0

22 M8_Bolt 0.27 24
6.48

23 M8ThreadedRod 12.86 4
51.44

24 1.25 12
15

25 Z-Axis_Gripper 3D Printed 0 4 0

26 Z-Axis_Gripper 3D Printed 0 4 0

27 Z-Axis_Stabilizer 3D Printed 0 4 0

28 Corner 1.5 8
12

29 DoubleL 1.25 32
40

30 Table 12.47 1

12.47

31 M3x15-Screw 0.53 24

12.72

32 MotorSpacer 3D Printed 0 6 0
1058.93

500mm - 
http://openbuildspartstore.com/

openrail-hard-coat/

80/20 20 SERIES 20-2040 20mm X 
40mm T-SLOTTED EXTRUSION x 

610mm

http://openbuildspartstore.com/
tee-nuts-30-pack/

http://openbuildspartstore.com/
low-profile-screws-m5-30-pack/

80/20 20 SERIES 20-2020 20mm X 
20mm T-SLOTTED EXTRUSION X 

610mm

http://openbuildspartstore.com/
precision-shim-10x5x1mm/

http://openbuildspartstore.com/
openbuilds-dual-v-wheel-metal/

6252RS_CircularBear
ings

http://openbuildspartstore.com/
ball-bearing/

http://openbuildspartstore.com/
aluminum-spacers-sizes-1-8-1-1-

2/

http://openbuildspartstore.com/
nylon-insert-hex-locknut-5mm/

40mm - 
http://openbuildspartstore.com/
openrail-gantry-plate-universal-

mount/

80/20 20 SERIES 20-4040 40mm X 
40mm T-SLOTTED EXTRUSION x 

610mm

http://openbuildspartstore.com/
motor-mount-plate/

http://openbuildspartstore.com/
nema-17-stepper-motor/

http://openbuildspartstore.com/
gt2-2mm-aluminum-timing-

pulley-20/

Belt2-
2^20_40x40_OpenR
ail

http://openbuildspartstore.com/
1-4-x-5mm-flexible-coupling/

http://www.mcmaster.com/#94
150a355/=t5xoba

http://www.mcmaster.com/#st
andard-threaded-rods/=t5xlek

608zz_CircularBearin
gs

http://seemecnc.com/products
/608zz-ball-bearing

http://openbuildspartstore.com/
cast-90-degree-corner-bracket/

http://openbuildspartstore.com/
universal-l-brackets/

http://www.homedepot.com/p/
Unbranded-3-4-in-x-2-ft-x-4-ft-
Medium-Density-Fiberboard-

1508112/202089064?N=5yc1vZbt
n1

http://www.amazon.com/Metri
c-15mm-Socket-Screw-

Black/dp/B004MFF4E6/ref=sr_1_1
1?ie=UTF8&qid=1407275148&sr=8
-11&keywords=M3+15mm+screw


